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Anatomy - lecture (1)

questions

1) All of the following structure form pterion except
A. Frontal bone.

B. Squamous part of temporal bone.

C. Greater wing of sphenoid.

D. Parictal bone.

E. Lesser wing of sphenoid.

Answer: E

2) Which of these bones is not paired:
A. Maxilla
B. Lacrimal
C. Nasal
D. Sphenoid
E. Zygomatic
Answer: D

3)How many foramina are in the mandible:
A2
B.5
C¥
D.5
(5

Answer: C
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4)Which structure of the skull related to middle meningeal
artery
A. Asterion.
B. Infratemporal fossa.
C. Suprameatal triangle.
D. Pterion.
E. Pterygomandibular fossa.
Answer: D

5) Wrong about pterion:
Answer: The center is related internally to posterior branch
of the middle meningeal artery

6) All of the structures related to the temporal bone except:
A. Tympanic bone
B. styloid process
C. Coronoid process
D. zygomatic process
Answer: C

7) Which tendon attaches to mandibular lingula ?
Answer: Sphenomandibular




